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Q#1(12 points)
Circle the correct answer :
1. A study was done to determine the percentage of teenagers that own a car. The true
percentage of teenagers that awn a car is the: '
a. statistic
b. population
c. variable

(_d) paranicter
2. Fifteen percent of the students in a school of Business Administration are majoring in

\3/ Economics, 20% in Finance, 35% in Management, and 30% 1QAccount1ngv The

e T — . e ~
graphical device(s) which can be used to prew_l_s_ (are) N \,_)hui"‘
A

a. aline grgph o
b. onlya bar graph
only a pie chart
d ﬁ\both a bar graph and a pie chart B
3. v “fia saxﬁf)fe“of ,Bﬂo_s_m_ts in a g,nwerSI 240 or 30%, are Business majois. The 30% is

‘an example of

C/ A sample

b. A population
Statistical inferences

c.
i 3 Descnptlve statistics '
* 4. For ease of data entry into a university database 1 indicates that the s studen tisa ﬂrsi year

o -'_:'student 2 1nd1cates that the student is a second year ‘student and SO on. In ﬂ’].IS case data Is. o

i ualitative data L _
5. Gwen the following information: Variance = 344 mean = 60 and median =74, The

ccz;crzcﬁ/w:wrmms (.‘._
a. 54% :

K\ (V= S d\
0% (v Lo o 1o

. ™
. 030% N e ?ﬁ |
d. 5.4% YRR VB qiey A2 xloo

6. Duung the past six months, the purchasmg agent boug [P
71200 tons of coal at $28 a ton

500 tons of coal at $8§a ton — -
Bbecw 2 éleu R RN

What is the mean pnce per ton?

/\2 AN H/"”\J* Mvald F3 2o
W@Y\ ﬂz;ﬁj/_& \m/%' / 4}@%3

72 % Yo + 3% Yoot QRSP

$72.04
e. None of the above
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7. Two events, A and B, are mutually exclusive and each have a nonzero probability. If

event A 18 known to occur, the pmbml"ﬁ_y of the occurrence of event B is
CWZ

b. ?({X NR) =9
¢. Any positive value v C /A) = f(%i@)—, ©
d. Any value between zero and 1 )

8. If A and B arg-ffidependent events with P(A) = 0.65 and p{4 nB)=0.26, then, P(B) =

: 0:169‘ POVWRY = 2R)- P
c. 0.39 56 = 0.6
d. 0.65 _ O

. According to Chrebyshev's Theorem, what percent of the observations lie within plus and

minus 1,53-§tandard deviations of the mean?
/56 percent i : s
~ 95 percent @’ ez T
c. 67 percent \\.\
d. Cannot compute because it depends on the shape of the distribution \

10. A.sample of assistant professors incomes has a symmetric distribution with mean income \
of $32,000 and a standard deviation of $3,000., what is the percentage of faculty that earn  \

more than $26,0007 : Y
L 22.6 boa  F 260w —~ 3:20’2"; =79 "
Pt

|

e ‘None of the above /

11. From.a group.of seven finalists to a contest, three individuals are to be selected for the !

ﬁrst and second and thzrd-places Determmﬁ_t_he number of passible selections. . s
e ) 2, = PR YD T R I & 1:1‘9 ;;;/E%T
%1 box éontams ch1ps numbered f8 0 to é .
One chip is selected at random from each box. ﬁnd The total number s in /

~ . the sample space ok lo¥lo ¥lgm &
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Q# 2: (12 points)
Eight people from your stat 236 class were taken and gave the following information:

—  Gender (Male = I, Female = 2), = .
— Preferred type of drink (1 = coffee, 2 = tea, 3 = milk, 4 = coke, 5 = juice), ;
— Meanmonthly income (to the nearest 100 dallar), ‘ ; J
— Mean d,aﬂyg@r@luqr@gjggd_(to the nearest dollar),

- Concern about the amount thega_spend (0= ngg_\y_omed 4= extremel)“fﬁ worrie
The results of the survey are given in the table below. o

| Gender | Preference | Income(x) Expendlture(y) “‘Concern - .
1 2 7 10 . f,_.f_? 3 '
1 1 5 6 o 7|1
1 3 9 5 2 /

_ 1 4 7|8 110 o /
I 4 10 1z 2 /
2 2 12 R /
2 2 7 8 - ; 4
2 2 6 5~ 1w

1. Is the data above referred to a sample or to a population? yin \

2. How many observations does this data set contain? & {nnd e

3. Classify the variables in the survey as quantitative or qualitative. Determine the scale of
measurements for each variable.

Variable Type of data Scale of measurement
Gender Cuedidediw VoM ant -
Preference oM Neddven DO A A
“t Income Conaaendi &iv, [#aitel — 5
Expenditure @Lm adiheAlg Catia
Concern P b b o\ neN

~ Construct a bar graph fojhe variable” concern”.

5. Are there any outhers for the variable “expenditure”? Support your answer.

3 1R
G ol § 2’,‘ 2 ﬁ,xo,lu,\z \5 @@=z W-"= 418 = &
@ grarest :‘\ ) ?‘L‘\ (V\l  lelyes- Q/ &y ~slae Q3 \31IRR
b “ N
5 A G5 ve 1< a-6 4 \Wgé
’ R
" = ""& [ / - . ¢ i
G ‘??S~E_q.* 2R3 — (4% g (v s ‘1,)
Page | 4 < ’{% o oA Vel Betemai
+
Q‘L - ?SQ 0% — o o .. ’_/ VPN SR tAR 1 (AVE
}. _‘.gé.&% = 48 = C{’_-%—l__ =, 3 w,uvmé\é TAe




Q#3(8 points)
The following table gives information on the monthly incomes (in WIS) and monthly

telephone bills (in dollars) for a;an@&anml_e_gﬁmlalestmlan households ISR TR 7
[Micome(x) T Phone billly) | A%} 9~ 98] (41)9-¥ =K Caall
‘110 ! 25 e I N ! L
T T 27 3 |y L\ 116
47 5 Ty |-k 22 I
1o 4 22 4-3l~*;kﬂ_-4%7 e o
111 ; 21 c =2 _ i
413 ‘ 24 2 11 2 el
6 3 10 “2 iz gs 2s 169
{15 31 T S TR A
JE 20 3\ 4 [ 34—
17 35 6 e [az ! 36 wy

{ 700 :
13 Do you expect these two variables to be linearly positively or aegatwel;ei’cffed‘? Support your o
- Answer. S

"@
Stz LLRX Y ) . 28 Q4. %
N\-\ “
o < Sh

A= - \% 2 Po's-‘-j*r‘\“ felbn SR
_ [ (-3 and YT eyl B T

= ) _ -
5> 1@ 0

A

14. Compute the correlation coefficient. What does this value tell us about the relationship between

_the two variables?

— e

<= E}é =2 oA ot
< gj ' and sﬁvfo\.«g
3. o
' TR Love oM B0
SATIRTOE O cAose ik
LATER]
Sy= || SO
n—\ a1
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Q# 4(8 points)
Assume you have applied for two scholarships, scholarship (A) and scholarship (B). The
probability that you receive scholarsh1é A is 0.2. The probability of receiving both scholarshlps
@ he probahility of getting ateast one of the scholarships i is0.5. 6.5
PANS e ?WL — NARE oS
15. What is the probability that you will receive one sc@lars_ﬂggly’? v ( ;
-os By
? Ms»/\/wma/ D= LAR)

P ve )

6-§ % g _ \

PIRY =6 . \\
16. What is the probéblhiy that you will not receive any of the two scholarships? § o (ANNB
PN = o7 N
- ~{ A/ \ 5 )
AN

| 17 Are the two events A, and B, mﬂe_e_&gl;gnt” Explain, usmg probabllmes

m\ e = R IUSY ey~
C) \§ ‘ O, /3 . (f) u (’-D \
C) \c) _# (Jr Ci . ,_,\ D‘(W"“‘L‘PJI\\

18. What is the probability of receiving the B scholarship given that you have been awarded

the A scholarship? . .
e A scholarship \9(_@/6\3 = p(OOHG ) 0.6 _
- L - 0 2 536
we o s
Ponal led 2 VP AMBY) =05 N
b~ .8 = ?(ﬂ\‘\g\x &/1 I
o5 = PRNEY => (o5 "“‘.’?’Q """" g
pehun) = \- o
@ o1
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